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Name:

MULTIPLİICATIONMO000 N
8x5=

7x3=

3x 12=__

Ix |=

10x0=_---

3%5=

40x4=

2x6=

6x8=_---
4x =

3x7=---
9x2=----

I0x8=

2x8=

7x8=

6X6=

0x |=

8x3=

9x4=

5x7=

2x |l=

4x8=

|lx7=

2x3=

I0x8=

4x5=

||x4=----
5x9=

8x9=

4x4=

9x9=

30x6=_

60x2=

-

12x6=

20x9=

50x7=

90x2=

70x8= 40x5=_ 80x3=_---
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Năme

DİVİNS 0000DiViSiON

|4+2=_--- 36+4= 6+2= 55+|=.40+4=

60+12=--- 24+6= 36+6=__-42+6= 8+4=----

10+2= I4+7= 4+2=3+3= l6+4=--

45+5=--- 48+6=_ 70+7= 12+2= 120÷12=---

64+8= 28+7=_-- 42+7= 50+10=___ 54+6=----

27+9= 33+||= 55+5= 48+4=28+4=

54+9= 24+4= 32+4=I8+6= 24+8=

12+6= 60+5= 12+4= 49+7= 12+3=

4+4= 36+12=_ 30+5= ---66+6= 56+8=_-.

100+ 10=_-- 48+8=__- 5+5= 35+7= ----

20+4= Il0+||=_16+2=---- 9+3= ----

18+3= q9+9= 32+8=56+7=_. --
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Name

F5x6

:8X1=

2xi=D

€öx4 ,
C12X6=

6X2=.. Bx2
Ox3=

CÖXl= 10Xll=

5x9= 9x9=

6x8 6 12X3=',- 8QLITÇgandthadeasthitüset'aitachaN



Name

34:8* 27.3
120-10= €: 18-3= 6 30:6=

E:6-6 A. 60-6= 72-8

42:6= € 80.8= 6l4:7=

90:10= 24.6

6:2= €E56:8

6.40:5= 16:4= 8OL07gglasandthadeaithîlist tallaqhen



Name

TWO- SOON
WODO PROBLEMS
Solveeach two-step wordproblermby showng
your work nd withg the answeron thelne.

Donny fOund 32 seashells atDuringthe summer,Ihad to
read forl000 minutes.InJune, the beach and Joey found 24

seashells They decded to baggieIread for 358minutes. In Juy.I

minutes doIneed to read inAugust to
them up evenly andgive to their 8
friends. How many seashells will
each friend get?

read for 423minutes. Howmaný

Complete the |00Ominutes?

On Friday, Margaret earned $38
dolars at her lemonadestand. On

MaryElenearned$12for every4O Saturday,sheearned$53dollarS
and on Sunday she earned $29 dolars.
Margaret spent $3 on the ingredlents
for theweekend Howmuch of a
profit dd shemake?

lawn shemowed, Ih Juy, she
mowed qlawns. She spent $32

gong to themovies,and at a few
festivals. Howmuch money does
Mary Elen have now?
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Name

ROUNDİNS0O THe NOODOSO 10

238 q7 503 552 27

746 6 q72 368 33

502 I83 77 Y35 72

668 I3 8q 353 qgg

50 757843 2g 64
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Name

ROUNDİN900THe OO0estl00
423 I234 8-40 284 532

48 273 3523a37 746

334 83 702 qH03 I96

427 5q3 686 4555627

20 q5 2747 34q I06
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Name
FUNO0 THe SO0WITH DO000000

247
+56|

396
+350

92
+ 159

512
+362

359
+ 151

290
+2 10

---

731
+23|

637
+252

809
+485
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Name

FUN 00 THeSOOWITH S0D0CO90000

897
-375

400
-250

721
-4 16

---

263
-87

456
- 4|

590
S-230

4 12

-296
824
-408

635
-492

O2CTKGçerardtnadeithue talaghen



Name:

MULTİ-DO000ADDİTIONO00SUBTRACTION

5 520
461

4. 3021 646

+ 38|
2. 204
+ 242

3. 942
229 + 35|-

6. 434
36

7.237
+ 319

8.836
205

8||
34|

I0. 546
+ 531

9.

- -

|.597
+ 200

13. 612
- 450

14. 650
+ 408

I5. 431
+ 775

12. 726
300-

----

I6. 536 + |40= 17. 74|- 382=_.

18.46|-35 |=. 19. 123 + 528=

20. 736 - 36= -----
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RACTIONG00 H

shaded
not shaded

shaded shaded
not shaded

shaded
not shaded not shaded

shaded
not shaded

shaded shaded shaded

not shaded not shaded not shaded

shaded shaded shaded shaded

not shaded not shaded not shaded not shaded

shaded shaded shaded shaded
not shaded not shaded not shaded not shaded
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COMPARIN9GGO90000S
Use <>,

3
J3

3

6

558
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Name

FRACTIONS O0 A NODDON LINE

+

+
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Name

S0ABo9900?
Colorin the top or bottom of the gril to
Correctly identify if the shape isă polygon or
not. Dont forget- apolygon is a2D shape with 3
or more straight sides and is a dlosed figure.

yes ves yěs
nó no no

yës
no

yés yës
nô

•.

no

Ayës
nổ

yěs
no no

yés yes yếs
no no no
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Name

ARCA 00 PERIMETER
2 Ft.

p= ft.
4Ft.---Sq ft.

7ft.
6Ft. qft.

2ft.p= in. 5 in.

Sqin = ft. 2Ft.
--Sq ft.

5in. 6ft. 4ft.
p=. ft. 2ft.

g ft.
8cm.

5At. 4cm.D cm.3FT.
Sq cm

3ft. 4 cm.
2cm.

3ft. 8cm

4cm.
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